CONDITIONAL LOGIT RESULTS OF INSPECTION EQUATION

Model 1:

clogit  insp inspcum ordercum postcum vol rf pty tannery wool duringpl carrasco insp1998 stream, group(plant)

note: multiple positive outcomes within groups encountered.

note: wool omitted due to no within-group variance.

note: tannery omitted due to no within-group variance.

note: pty omitted due to no within-group variance.

Iteration 0:   log likelihood = -1358.0389

Iteration 1:   log likelihood = -1309.3557

Iteration 2:   log likelihood = -1308.3474

Iteration 3:   log likelihood = -1308.3472

Conditional (fixed-effects) logistic regression   Number of obs   =       3848

                                                  LR chi2(9)      =     127.47

                                                  Prob > chi2     =     0.0000

Log likelihood = -1308.3472                       Pseudo R2       =     0.0465

------------------------------------------------------------------------------

        insp 
|      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

carrasco 
|   1.752954   .2719131     6.45   0.000     1.220015    2.285894

inspcum 
|  -.0930545   .0312554    -2.98   0.003    -.1543139    -.031795

ordercum 
|   .0517023   .0943986     0.55   0.584    -.1333157    .2367202

postcum 
|  -.2007636   .1057445    -1.90   0.058    -.4080191    .0064918

vol 

|   .0145554   .0065107     2.24   0.025     .0017947    .0273161

rf 

|   .3169227   .1677523     1.89   0.059    -.0118658    .6457113

duringpl 
|  -.0106132   .1232469    -0.09   0.931    -.2521727    .2309462

insp1998 
|   1.111061   .1352999     8.21   0.000     .8458777    1.376244

stream 
|   .1455142   .5730309     0.25   0.800    -.9776058    1.268634

------------------------------------------------------------------------------

.

Model 2:

. clogit insp inspcum eacum vol rf pty tannery wool duringpl carrasco insp1997 stream, group(plant)

note: multiple positive outcomes within groups encountered.

note: wool omitted due to no within-group variance.

note: tannery omitted due to no within-group variance.

note: pty omitted due to no within-group variance.

Iteration 0:   log likelihood = -1348.0792

Iteration 1:   log likelihood = -1270.5252

Iteration 2:   log likelihood = -1269.1297

Iteration 3:   log likelihood = -1269.1295

Conditional (fixed-effects) logistic regression   Number of obs   =       3848

                                                  LR chi2(8)      =     205.91

                                                  Prob > chi2     =     0.0000

Log likelihood = -1269.1295                       Pseudo R2       =     0.0750

------------------------------------------------------------------------------

        insp |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

    carrasco |   2.128016   .2786763     7.64   0.000      1.58182    2.674211

     inspcum |  -.0875736   .0310894    -2.82   0.005    -.1485077   -.0266394

       eacum |   .0443881   .0593224     0.75   0.454    -.0718817    .1606578

         vol |   .0113462   .0067681     1.68   0.094    -.0019191    .0246115

          rf |    .395685   .1667639     2.37   0.018     .0688337    .7225362

    duringpl |  -.3858121   .1340905    -2.88   0.004    -.6486246   -.1229995

   insp19971998 |    1.56723   .1323004    11.85   0.000     1.307926    1.826534

      stream |   .3474971   .5746875     0.60   0.545    -.7788697    1.473864

------------------------------------------------------------------------------

. 

Model 3:
. clogit insp inspcum  inspothe inspsein eacum vol rf pty tannery wool duringpl carrasco insp1997 stream, group(plant)

note: multiple positive outcomes within groups encountered.

note: wool omitted due to no within-group variance.

note: tannery omitted due to no within-group variance.

note: pty omitted due to no within-group variance.

Iteration 0:   log likelihood = -1347.5382

Iteration 1:   log likelihood = -1266.6701

Iteration 2:   log likelihood = -1265.2755

Iteration 3:   log likelihood = -1265.2753

Conditional (fixed-effects) logistic regression   Number of obs   =       3848

                                                  LR chi2(10)     =     213.61

                                                  Prob > chi2     =     0.0000

Log likelihood = -1265.2753                       Pseudo R2       =     0.0778

------------------------------------------------------------------------------

        insp |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

    carrasco |   2.195768   .2826622     7.77   0.000      1.64176    2.749775

     inspcum |  -.0916737   .0312453    -2.93   0.003    -.1529133    -.030434

    inspothe |  -.0054948   .0026605    -2.07   0.039    -.0107093   -.0002804

    inspsein |     -.0712   .0293751    -2.42   0.015    -.1287742   -.0136258

       eacum |   .0449068   .0593838     0.76   0.450    -.0714833    .1612969

         vol |   .0115318   .0067577     1.71   0.088     -.001713    .0247766

          rf |    .386396   .1661619     2.33   0.020     .0607246    .7120675

    duringpl |  -.2553775   .2073195    -1.23   0.218    -.6617162    .1509612

    insp1997 |   1.418698   .1432852     9.90   0.000     1.137864    1.699532

      stream |    .397676   .5712693     0.70   0.486    -.7219913    1.517343

------------------------------------------------------------------------------

.

Model 4:

. clogit inspimm inspimmt inspimmo inspsein finedimmcum vol rf pty tannery wool  duringpl insp1997 stream, group(plant)

note: 1 group (42 obs) dropped due to all positive or all negative outcomes.

note: wool omitted due to no within-group variance.

note: tannery omitted due to no within-group variance.

note: pty omitted due to no within-group variance.

Iteration 0:   log likelihood = -873.20488

Iteration 1:   log likelihood = -807.23447

Iteration 2:   log likelihood = -803.27243

Iteration 3:   log likelihood = -803.27126

Conditional (fixed-effects) logistic regression   Number of obs   =       3066

                                                  LR chi2(9)      =     170.56

                                                  Prob > chi2     =     0.0000

Log likelihood = -803.27126                       Pseudo R2       =     0.0960

------------------------------------------------------------------------------

     inspimm 

|      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

inspimmcum

|   -.210303   .0652314    -3.22   0.001    -.3381543   -.0824518

inspimmothercum
|  -.0090959   .0034423    -2.64   0.008    -.0158426   -.0023491

inspseincocum
|  -.1349424   .0403722    -3.34   0.001    -.2140705   -.0558142

finedimmcum 
|   .9895171   .3626297     2.73   0.006     .2787758    1.700258

vol 


|   -.001576   .0089426    -0.18   0.860    -.0191031    .0159511

rf 


|   .4235635   .1977639     2.14   0.032     .0359534    .8111736

duringplan 

|   -.445678   .1894164    -2.35   0.019    -.8169274   -.0744286

1997-1998 

|   1.919823   .2019669     9.51   0.000     1.523975    2.315671

stream 

|   1.150011     .78732     1.46    0.144    -.3931083    2.693129

------------------------------------------------------------------------------

.

Model 5:

. clogit inspdca inspdcat inspdcao eadcacum tannery wool vol carrasco stream, g

> roup(plant)

note: multiple positive outcomes within groups encountered.

note: 16 groups (832 obs) dropped due to all positive or

      all negative outcomes.

note: wool omitted due to no within-group variance.

note: tannery omitted due to no within-group variance.

Iteration 0:   log likelihood = -546.87165

Iteration 1:   log likelihood = -509.25365

Iteration 2:   log likelihood = -508.75761

Iteration 3:   log likelihood = -508.75732

Conditional (fixed-effects) logistic regression   Number of obs   =       3016

                                                  LR chi2(6)      =      90.24

                                                  Prob > chi2     =     0.0000

Log likelihood = -508.75732                       Pseudo R2       =     0.0815

------------------------------------------------------------------------------

     inspdca |      Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

-------------+----------------------------------------------------------------

    inspdcat |  -.1547578   .0748814    -2.07   0.039    -.3015227   -.0079928

    inspdcao |  -.0165602   .0067463    -2.45   0.014    -.0297828   -.0033377

    eadcacum |  -.0497041   .0831657    -0.60   0.550    -.2127059    .1132977

         vol |   .0459809   .0098754     4.66   0.000     .0266256    .0653363

    carrasco |   3.347768   .4205823     7.96   0.000     2.523442    4.172094

      stream |   .6425517    .788267     0.82   0.415    -.9024232    2.187527

------------------------------------------------------------------------------

.

